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N BE K=F 3034 =
R E:| me( M 1 2 3 4 6 |/MET|BET
L 50 | 54 48 102 45 | 147| 48 |195| 53 |248| 52 | 300
1 HEE |4 631
30| 53 [353| 52 [405| 56 |461| 55 |516| 58 |574| 57| 331
_ 50| 51 46| 97| 49 | 146| 44 |190| 55 |245| 45 | 290
2| =R |3 591
30| 42 |332| 55 |387| 51 |438| 49 |487| 51 |538| 53 | 301
e 50| 47 48 95| 54 [149| 54 [203| 53 |256| 54 | 310 .
3| EHokIEEE |3 642
30| 54 |364| 54 |418| 57 |475| 56 |531] 56 |587| 55 | 332
50 | 43 48191 | 50 |141] 45 |186| 42 |228| 41 | 269
4 | FENFER |3 605
30| 56 [325| 54 |379| 57 |436| 56 |492| 55 |547| 58 | 336
50 | 48 33| 81|47 |128| 41 |169| 47 |216| 44 | 260
5 | KAEHRZ|4 565
30| 49 |309| 54 |363| 51 |414] 51 |465| 55 |520| 45 | 305
50
wmr| FEAMERR| 2
" 30
50 243 223 245 232 250 236
A= 243 466 711 943 | 1193 | 1429
=-|- 3034
MR %0 254 269 272 267 275 268
1683 | 1952 | 2224 | 2491 | 2766 | 3034
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5] 2| mx( M 1 2 3 4 5 6 |/NEH|EET
50| 51 48199 | 50 [149| 47 | 196| 55 [251| 47 | 298
1| B)IBE | 3 635
30 | 54 [352| 59 |411| 57 |468| 54 |522] 57 |579| 56 | 337
50 | 52 53 1105| 48 |153| 50 |203] 56 |259| 55 | 314
2 | BRHEHBERE |2 661
30 | 56 [370] 58 |428| 58 |486| 58 |544| 58 |602| 59 | 347
50 | 49 56 1105 51 |156| 50 |206| 45 [251| 47 | 298
3 TEE |1 635
30| 55353 57 |410| 59 |469| 54 |523| 54 |577| 58 | 337
50| 57 50 [107] 54 |161] 49 [210] 49 | 259 51 | 310
4 | &R 1 658
30| 57 [367| 58 |425| 58 |483| 58 |541| 58 |599| 59 | 348
. 50 | 56 60 [116] 54 |170] 55 [225| 52 |277] 55 | 332
5 |BNUBBEE |4 682
30 | 58 [390] 60 |450| 59 [509| 58 |567| 57 |624| 58 | 350
N 50
wr| /N A | 3
30
50 265 267 257 251 257 255
A= 265 532 789 | 1040 | 1297 | 1552
= 3271
MR 30 280 292 291 282 284 290
1832 | 2124 | 2415 | 2697 | 2981 | 3271




